jet / dm_3jet [pb/GeV]

do 3

Ratio to DO

=
o
N

10

0.5

1960 GeV ppbar Jets
EI T | T I T I I I | I I I T I T = ﬂ
— —
- Three-jet mass(Do p__ > 40 GeV, ly| < 1.6) 12
= 13
— 540
— :q-
— ] N
L IS
—
_ i
— Hm
— _ E
— -1.=
— -
B e
- — ™
— = <t
— -0 m
— o
I 10
- — M
—
= m DO E%
— ---- Herwig 7.2.1 default o 1=
| —— Pythia 8.308 default e =
= ¢ Sherpa 1.4.3 default ! = §
~ | 9
L : 1o
! o
—— | )
= | - | 5 -
= | 52
- o -
5 1
L * —0.5
1 " | " 1 1 1 1 " | " 1 1 1 " 1 " |
500 1000 1500

m_3jet [GeV]



	Contents
	Page 1


